
C-Service 3

Slewing system Ø115-720 / 415

593001Model:F 95 S

593001 - Slewing system Ø115-720 / 415

Page 1 of 2 2015-10-13



C-Service 3

942428521  2Cylinder tube Zylinderrohr

942598692  2Piston Kolben

942598703  1Rack bar Zahnstange

942617184  1Bearing Lager

942525215  2Throttle ring Drosselring

942525206  2Throttle pin Drosselzapfen

823682357  2O-ring 123,42 x 3,55 O-Ring 123,42 x 3,55

823561158  2Seal Dichtung

823719759  2Locating ring Führungsring

8237127510  2Wiper ring Abstreifring

8237182411  2Seal ring Dichtungsring

8237101712  8Seal ring Dichtungsring

8237181613  1Seal ring Dichtungsring

5433230014  2Circlip 30x1,2 Sicherungsring 30x1,2

4560518915  8Socket head cap screw M 12 x 60 8.8 Innensechskantschraube M 12 x 60 8.8

4562522016  16Socket head cap screw M 12 x 70 12.9 Innensechskantschraube M 12 x 70 12.9

4126610017  1Hexagon screw M 16 x 35 8.8 Sechskantschraube M 16 x 35 8.8

9423685718  16Bushing Buchse

59.300.1  0Slewing system 1 No 952001-, 752001- Schwenkwerk 1 No 952001-, 752001-

Kit 94259072 Seal kit Dichtungssatz

823682357  2O-ring 123,42 x 3,55 O-Ring 123,42 x 3,55

823561158  2Seal Dichtung

823719759  2Locating ring Führungsring

8237127510  2Wiper ring Abstreifring

Pos Part No Description EN QuantityDescription DE

593001 - Slewing system Ø115-720 / 415

Page 2 of 22015-10-13


